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TOTAL | JEfZ | TOTAL | NET TOTAL | JEfI | TOTAL | NET
HZEIE R 2]
466 1 483 4
K £ OUT | IN |TOTAL |HDCP| NET K % OUT | IN |TOTAL |HDCP| NET
F i BB 36 | 38 74 *| 36 |704 X BH & 35 | 38 73 *| 2.4 |70.6
5 # 2= = 38 | 37 75 *| 3.6 |714 5 M m 17 39 | 36 75 *| 2.4 |726
= B i 42 | 35 77 *| 4.8 [72.2 & K #F*K KB 41 | 39 80 *| 10.8 |69.2
= H EBE = 40 | 40 80 *| 9.6 [70.4 52 & F Ik 44 | 38 82 *| 84 |73.6
BmOH OE OB 38 | 42 80 *| 3.6 |764 X B ¥ = 43 | 41 84 *| 84 |75.6
m R B z 39 | 41 80 *| 10.8 |69.2 X H il 49 | 40 89 *| 156 |73.4
g ot # X 40 | 43 83 | 9.6 |734 B H# 2 46 | 45 91 | 18.0 |73.0
TOTAL | JiEfZ | TOTAL | NET TOTAL | JEfZ | TOTAL | NET
== ==
FEE N
476 2 485 5
K 4 OUT | IN |TOTAL |HDCP| NET K 4 OUT | IN |TOTAL|HDCP| NET
£ R KX B 38 | 37 75 *| 36 |714 X B i 39 | 37 76 *| 48 |71.2
E I ®#& 39 | 36 75 *| 36 |71.4 B % FE Bh 43 | 36 79 *| 84 |70.6
wom — 38 | 41 79 *| 48 |74.2 EF &5 B = 36 | 44 80 *| 7.2 |72.8
E OB OB L 41 | 40 81 *| 84 |72.6 wmoB == 37 | 44 81 *| 7.2 |73.8
W B\ = s 42 | 41 83 *| 84 |74.6 /N U | I 43 | 40 83 *| 4.8 |78.2
M B X & 40 | 43 83 *| 96 |734 P 2 F =& 43 | 43 86 *| 9.6 |764
W m % H 47 | 39 86 | 9.6 764 X #E £ % 49 | 40 89 | 14.4 |74.6
TOTAL | JEfI | TOTAL | NET TOTAL | JEfL | TOTAL | NET
AL B
481 3 487 6 [(433.0| 2
K % OUT | IN |TOTAL |HDCP| NET K 4 OUT | IN |TOTAL|HDCP| NET
moo B R 38 | 34 72 *| 24 |69.6 2 ® E & 39 | 38 77 *| 48 |722%
XK & &7 — BB 37 | 40 77 *| 48 [72.2 ST S - I 37 | 41 78 *| 72 |708%*
8% X B & 42 | 40 82 *| 8.4 |73.6 X B EEq 43 | 38 81 *| 10.8 |70.2*
5B & — & 43 | 39 82 *| 9.6 |724 H o F OE 43 | 39 82 *| 7.2 |74.8
B X F Z 43 | 41 84 *| 9.6 |744 o B K I 42 | 41 83 *| 96 |734%
nm B E = 44 | 40 84 *| 12.0 |72.0 X B B F 44 | 42 86 *| 12.0 |74.0*
B #&# 1E # 47 | 46 93 | 216|714 F B F 11 42 | 46 88 | 156 |724*
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TOTAL | JBHL | TOTAL | NET TOTAL | JIBRL | TOTAL | NET
EE TH&E
487 7 4278 1 500 10 14384 | 4
K % OUT | IN |TOTAL|HDCP| NET K % OUT | IN |TOTAL HDCP| NET
oo B X 37 | 37 74 *| 48 |69.2%* % =3 39 | 36 75 *| 36 |714%
B & JIE 37 | 38 75 *| 48 |702% w E E A 42 | 36 78 *| 48 |732*
7 F B 40 | 41 81 *| 96 |71.4% A # it 39 | 42 81 *| 84 |726%
w B B f£ X 41 | 41 82 *| 10.8 |71.2* N ® EE 47 | 40 87 *| 156 |714%
g & 42 7 7 42 | 45 87 *| 96 |774 # o = 42 | 45 87 *| 10.8 |76.2
H m B & 44 | 44 88 *| 15.6 |72.4% X & OB = 47 | 45 92 *| 16.8 |75.2*
= N E B 44 | 45 89 | 156 |734% M H E A X 48 | 47 95 | 204 |746%
TOTAL | JIERL | TOTAL | NET TOTAL | L | TOTAL | NET
KB ‘ N
490 8 (4394 6 501 11 1449.0] 12
E % OUT | IN |TOTAL |HDCP| NET K % OUT| IN |TOTAL|HDCP| NET
B B B & 37 | 39 | 76 * 48 [712*| |® N H & 36 | 35 | 71% 12 |69.8*
T B 40 | 36 76 *| 24 |736*| | W ® B 40 | 40 | 80 *| 36 |764*%
=W fa & 43 | 37 80 *| 84 |716* N O E B 42 | 44 86 *| 10.8 |75.2*
' B = — 44 | 38 82 *| 24 |796 a2 ® — B 43 | 44 87 *| 10.8 |76.2%
=5 W & 41 | 43 84 *| 12.0 |720% x W B = 44 | 43 87 *| 72 |79.8
r H & 47 | 45 | 92*[ 168 |752%| [H A E — 44 | 46 | 90 *| 156 744%
X W &F - 47 | 48 95 | 19.2 |758% ] I R | B 50 | 45 95 | 18.0 |77.0%
TOTAL | JlEfZ | TOTAL | NET TOTAL | JEfZ | TOTAL| NET
KHEIR AREA 1]
493 9 4416 7 501 12 4422 8
K % OUT | IN |TOTAL |HDCP| NET K % OUT| IN |TOTAL|HDCP| NET
wooE R 35 | 37 72 *| 1.2 |708% N O b 42 | 37 79 *| 60 |730%*
BB B B B 40 | 39 79 *| 48 |742% '+ B B Z 42 | 38 80 *| 84 |71.6%*
fx W B 5h 39 | 42 81 *| 84 |726% X & 8h = 41 | 41 82 *| 72 |748*
FOE B K 42 | 40 82 *| 7.2 |748% * % # = 42 | 43 85 *| 10.8 |74.2*
5 B & F 47 | 42 89 *| 12.0 |77.0 fm # E H 44 | 41 85 *| 13.2 |71.8*
B H M X 44 | 46 90 *| 14.4 |756* ® 2 8B = 42 | 48 90 *| 13.2 |76.8*
# #  5h 46 | 48 94 | 204 |736%* [T N 7: 1 45 | 50 95 | 16.8 |78.2
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TOTAL | JEfZ | TOTAL | NET TOTAL | JiEfz | TOTAL NETW
BF SRR
502 13 4464 11 524 | 16 |443.6| 10
K % OUT | IN |TOTAL|HDCP| NET K % OUT | IN |TOTAL |HDCP| NET
W |\ F 2 38 | 42 | so*[ 60 |740%| [H &K # & 41 | 39 | 80*| 60 |740%
R B X E 41 | 40 81 *| 84 |726%* NROR OO 40 | 44 84 *| 96 |744%
& B 1T 43 | 39 82 *| 48 |71.2 € B X x 46 | 42 88 *| 14.4 |73.6%
ﬂ ® — X 40 | 43 83 *| 60 |770*| (MM B B = 40 | 48 88 *| 14.4 |736*
oA E — 44 | 42 86 *| 12.0 |74.0% B & @ — 43 | 49 92 *| 180 |74.0*
X B L 44 | 46 90 *| 15.6 |7447F T B ] 48 | 44 92 *| 180 |740*
b IS R 41 | 49 90 | 15.6 |74.4% B KX & = 51 | 49 | 100 | 16.8 |83.2
TOTAL | JESZ | TOTAL | NET TOTAL | JIEGL | TOTAL | NET
Bk 1%
502 14 |4384| 5 531 17 14378 3
E % OUT | IN |TOTAL|HDCP| NET K 4 QUT | IN |TOTAL|HRSR| NET
£ B X & 36 | 30 | 75*| 36 |714*| [ # H & a3 | 40 | 83| 12.0 [71.0%
B o0 2 (a4 s salmer) |8 B B - a1 45| 867 84 70T
& ®| E 43 | 42 85 *| 10.8 |74.2* & W™ F A 43 | 44 87 *| 13.2 |738*
X B i Al 46 | 39 85 *| 132 |71.8* B &% m = 44 | 44 88 *| 18.0 | 70.0*
b N N <(| B 44 | 42 86 *| 9.6 |764%F E H 2 50 | 42 92 *| 12.0 |80.0
= th F E 47 | 41 88 *| 18.0 |70.0* o B OO 48 | 47 95 *| 240 |71.0*
B EO[E 45 | 51 96 | 21.6 |744F
TOTAL | JEST | TOTAL | NET : TOTAL | JlEfif | TOTAL | NET
AMEESLWL R
513 15 (4434 9 535 18 |451.0] 13
K 4 OUT | IN |TOTAL|HDCP| NET K % OUT| IN |TOTAL|HDCP| NET
= ® B 5 41 | a1 | 82*| 72 |748%| |® W B 17 42 | 41 | 83 *| 1446867
= ® £ = M | M 82 *| 108 |71.2% & BT sh K 43 | 41 84 *| 96 |744%
N5 ®M = 43 | 41 84 *| 12.0 |72.0* E E E 47 | 4 88 *| 12.0 |76.0%
H o E 45 | 39 84 *| 84 |756* 7 &R B N 44 | 49 93 *| 144 |786*
EoO3 B & 45 | 42 87 *| 13.2 |73.8* £5] ¥ 1E 50 | 43 93 *| 14.4 |786*
wm OB B =B 47 | 47 94 *| 180 |76.0* N K E £ 49 | 45 94 *| 19.2 |74.8*
BE AKX ¥ E 48 | 50 98 | 18.0 |80.0 H B Z 46 | 48 94 | 144 |79.6




